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This document consists of some general marking guidance, the generic marking criteria, and question-specific notes for all questions.   

General marking guidance

1. Assessment criteria
The work of an examiner is to assess each candidate in the three broad areas of knowledge (Kn), understanding (Un) and skills (Sk). Specifically, the written examination tests the candidate’s ability to:

· recall relevant knowledge and use appropriate and precise examples and/or case studies to support an answer
· show understanding of the relevant ideas and concepts 
· select, use and interpret material from a variety of sources
· present relevant information and appropriate evidence in written or cartographic form
· place material in its relevant context, showing an understanding of the interaction between people, places and events
· develop evidence-based arguments in written and cartographic form, structuring the response clearly, logically and effectively, in order to reach substantiated conclusions
· analyse, evaluate and provide evidence-based judgements
· use the knowledge gained from one discipline to gain a greater understanding of the other.

The generic marking criteria (see below) reflect these abilities.

2. Positive marking
You are asked to assess candidates’ responses positively, rather than negatively, always giving candidates the benefit of the doubt.  Positive marking involves seeking to award credit where it is deserved. In particular, you are encouraged not to look for fully comprehensive answers and to accept teaching approaches to topics which differ from your own, i.e. do not start marking a response with your own ‘model answer’ in mind.  You should not ‘knock marks off’ for work containing errors – errors should be ignored unless they directly contradict a correct point that has been made.  Cambridge does not penalise work you might consider to be ‘messy’, for example with crossings out.  You should use the full range of marks, as long as it is appropriate for the response being assessed, however it is unusual to grade an answer ‘Very Weak’. Full marks should be awarded for an exceptionally good answer. 

A further aspect of positive marking is that, whilst the candidate’s selection and application of material relevant to each part of a question is an ability to be assessed, some transfer of credit between the two parts of a question is admissible, especially where a candidate has not differentiated clearly between each part of the question.  

1. Part marks, total question marks and total script marks

Marks are allocated, at first, to each part of a question (i.e. /8, /10 and /12). Where a response displays characteristics of two different mark bands e.g. between Bare pass and Satisfactory, use your judgement to decide which band best sums up its character.  This is the principle of ‘best fit’. Please note that a response does not need to meet all the criteria of a mark band to be placed within it.

The total mark (out of 20) that you give to an answer will indicate the quality of the answer as a whole, reflecting the relevant statement for that mark band in the generic marking criteria.  
  
Lastly, the total mark awarded to a script will indicate the assessed quality of the script as a whole, even though this comprises two answers, marked separately, which may be of different qualities and standards.  To arrive at this total mark for the script, the aggregate mark (out of 40) will be halved and, if not a whole number, always rounded up. This will be done automatically by Viatique when you enter the two marks out of 20.  Please do not use half marks in the components (i.e. parts of questions) or in whole questions – always round up.

4. Paper structure and question structure

Candidates are only required to answer two questions in – a generous – four hours.  There should not be a problem with incomplete or unfinished answers or answers in note form, although examiners do see some each year.  Blanks in scripts may simply indicate lack of knowledge and understanding, poor question choice, or both.  If a candidate does allocate their time poorly it is self-penalising as the marker can only assess the material which is submitted. However, everything that is submitted should be marked, however sketchy or incomplete.

Each question is structured in two parts.  Each essay question has two clearly defined elements within it.  The document-based question (DBQ) and the annotated map question (AMQ) both have two parts (a) and (b).  Whilst the subdivision of marks for the questions is not printed on the question paper, the allocation is as follows:
 		
· First element of the essay and part (a) of the DBQ	 8 marks
· Second element of the essay and part (b) of the DBQ	12 marks
· First element of the annotated map question		10 marks
· Second element of the annotated map question		10 marks

For the essay questions, indicative content has been provided to help examiners in the non-italicised parts of the mark scheme. For the DBQ and the AMQ, indicative content and/or useful background information is provided in the non-italicised parts of the mark scheme. It needs to be emphasised that the points given are ‘indicative’ and not comprehensive. Credit should be given for any responses which include points, arguments and examples which are correct and relevant, even if they are not included in the list of indicative content in the mark scheme. It is possible to raise an enquiry with your team leader by email if you have any concerns about marking a question and want a second opinion. For each question, some marking guidelines are also given, in italics, to help examiners to treat responses in the same way, i.e. to promote convergence in marking.  

The first element of an essay question usually asks for an explanation i.e. a lower level of demand than for the second element which is an extended piece of writing involving higher level skills, such as the presentation of an argument with a conclusion, an assessment, or an evaluation. This second element of the essay is much broader in conception and provides a stimulus for the candidate’s own response. In the second element of the essays, candidates are expected to select their own examples/case studies, evidence, and material in support of their argument.  

In part (b) of the DBQ and the AMQ, candidates should develop an answer drawing on the documents and/or annotated map to some extent, but also on their wider knowledge and understanding of the topic.  A variety of approaches and responses is expected to this second demand and as such it is more difficult to offer specific marking guidelines.  Examiners are asked to use their experience of history and/or geography to assess each response using the generic marking criteria on the next page.  Once again, it is possible to raise an enquiry with your team leader if you have any concerns about marking a particular question and want a second opinion.

In the document-based questions (DBQ), candidates should not be given credit for simply describing the documents, as some do, but only from meeting the specific demand(s) of the question. 

When using the generic marking criteria (see below), candidates do not have to achieve every aspect to be awarded a level – it is a ‘best fit’.  Three out of five statements are certainly enough for a grade to be awarded.  Not all statements apply equally to every type of question.

OIB History-Geography generic marking criteria for the written examination 

	/8
	/10
	/12
	Performance descriptors for the six bands/levels


	8
	9-10
	11–12
	Very good (Refers to questions/scripts awarded 18-20 overall)
· Extensive, detailed and well-directed knowledge
· Very good understanding with a “big picture” approach
· High ability to analyse, evaluate and provide evidence-based judgements
· Highly skilled interpretation and use of document(s)
· Locations on the annotated map are precisely identified. Symbols and colours are wide-ranging, appropriate and used correctly. Key very well structured
· Devises and structures response very effectively

	6–7
	7-8
	9–10
	Good (Refers to questions/scripts awarded 14-17 overall)
· Good, detailed knowledge, directed effectively
· Good level of understanding, developing ideas within firm subject context
· Good ability to analyse, evaluate and provide evidence-based judgements
· Skilled interpretation and use of document(s)
· Most locations on the annotated map are precisely identified. A good range of appropriate symbols and colours used. Key well structured
· Devises and structures response well

	5
	6
	7–8
	Satisfactory (Refers to questions/scripts awarded 11-13 overall)
· Appropriate knowledge
· Sound understanding, with some elements of subject context
· Some ability to analyse, evaluate and provide judgements
· Clear interpretation and use of document(s)
· Many of the locations on the annotated map are precisely identified. Sufficient number of symbols and colours used. Key adequately structured
· Devises a simple, clear structure for the response

	4
	5
	6
	Bare pass (Refers to questions/scripts awarded 10 overall)
· Basic knowledge
· Basic understanding and limited awareness of subject context
· Analysis, evaluation and use of evidence basic
· Basic approach to document(s); limitations in interpretation and/or use
· Some locations on the annotated map are precisely identified. Symbols and colours sometimes used inappropriately. Basic key structure.
· Gives response a basic structure

	3
	3-4
	4–5
	Weak (Refers to questions/scripts awarded 6-9 overall)
· Basic knowledge – restricted in scope, depth or detail
· Basic understanding – restricted and/or faulty
· Approach largely descriptive or analysis is weak or faulty and evaluation lacks supporting evidence
· Weak approach to document(s) interpretation and use
· Many of the locations on the annotated map are incorrectly identified. Inadequate use of symbols and colours. Key lacks structure.
· Devises and structures response weakly or offers fragments, notes or an unfinished response

	1–2
	1-2
	1–3
	Very weak (Refers to questions/scripts awarded 1-5 overall)
· Very little relevant knowledge – a few basic facts
· Very restricted understanding
· Little or no analysis or evaluation or judgements offered
· Very weak approach to document(s) interpretation and use
· Most locations on the annotated map are incorrectly identified or missing. Very few symbols and colours used. No key or key is fragmentary
· Devises and structures response very weakly or offers fragments

	0
	0
	0
	No response





Question-specific notes
Sujet A

History Essay

Question 1:  The USA and the world from 1918 to 2003

	Explain the term isolationism.  [8 marks]




The dictionary definition of isolationism is ‘staying out of alliances and political and economic relations with other countries’. However, the command is ‘explain’, not ‘define’ so a definition without contextual information on the USA after the First World War would be a weak response at best. 

Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below.

Answers are likely to focus on the period between the two world wars, 1918-1941.  
· Isolationism was not new. Many citizens of the US had fled persecution and poverty in Europe and wanted to avoid entanglement in European affairs. Isolationism had been a traditional US foreign policy in the nineteenth century. US had been initially very reluctant to participate in WWI –and preferred isolationism. 
· President Wilson had taken the USA into the First World War in 1917.  At the end of the War, Wilson wanted the USA to take a leading role in negotiating and maintaining the peace, in particular through the League of Nations. But After WWI, there was renewed support for isolationism and in 1919 and 1920 Congress voted against joining the League.
· In the 1920 presidential election the Republicans campaigned for isolationism and a return to ‘normalcy’, winning a landslide victory. 
· Between the two world wars the USA focused on developing the economy rather than taking a lead in international affairs.  The USA did trade with other countries; isolationism did not prevent this.
· Adoption of a policy of ‘Independent Internationalism’ in the 1920s. This implied a willingness to intervene in international affairs, if it suited US interests, without being shackled to the obligations of the League of Nations. Examples of this could be the 9 Power Treaty of 1921-22, the Dawes Plan of 1924, the Kellogg-Briand Pact of 1928. 
· Impact of the Wall Street Crash; World-Wide Economic Depression, leading to isolationism in the first half of the 1930s. Examples could be the Nye Committee in 1934, and the Neutrality Acts of 1935-7.
· President Roosevelt (elected 1932) was more internationalist but isolationism was still strong in the 1930s, and he was unable to take the USA into the Second World War until the Japanese attack on Pearl Harbor in 1941. However, students might also recognize that the growing world crisis in the latter half of the 1930s led to a progressive weakening of Isolationism by FDR. Examples could be the Quarantine speech of 1937, the Cash and Carry policy of 1939 and the Arsenal of Democracy policy of 1940.
· After the war there was no return to isolationism. The Truman Doctrine and the formation of NATO in 1949 committed the USA to the defence of Western Europe.

Mark holistically on the overall quality of the answer.  There must be more than a ‘dictionary definition’ of the term ‘isolationism’ for higher levels.  Such a definition would be worth no more than a ‘weak’ level.  Better answers will include contextual information giving examples of how and why the USA returned to an isolationist policy after the First World War ended. Bare Pass will include some awareness, however limited of the context. A satisfactory answer would utilise some appropriate knowledge, although it may be limited in the examples it gives.  A good answer will start to explain what the policy of isolationism meant for the USA after 1918, going beyond narrative.  A very good answer will have a ‘big picture’ approach, giving a clear explanation of what isolationism meant for the USA during the period from 1918 onwards.  Although brief reference to the background to isolationism before 1918 will help to give context to answers, it is not required, and it is possible to award full marks without this. Information after 1941 is also not required for full marks.
  							Continued
	To what extent was the year 1941 a significant turning point in the international policy of the USA from 1918 to 2003?                                                                                                  [12 marks]




This part of the question requires candidates to go beyond narrative and analyse, evaluate and provide evidence-based judgements to reach the top level.  Such judgements must be supported by relevant and accurate knowledge. There is no ‘right’ or ‘wrong’ answer.  It would be difficult to argue that 1941 was not a turning point, but candidates might create an argument based on its significance compared to other events in the period.  Better candidates will adopt a more subtle response avoiding a simple ‘US isolationist before 1941 and interventionist after 1941’ answer although it is very difficult to argue that 1941 was not a significant turning point – even the best answers may show some imbalance in their arguments. The question refers to 1918 to 2003 and so answers should go beyond the events of 1941 but do not have to cover the entire period.

Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below.

Ways in which it could be argued that 1941 was a significant turning point
· From 1919-1941, the USA had pursued a policy of isolationism/ independent internationalism and had avoided being shackled by any form of global governance e.g. rejection of the League of Nations.
· The policy of ‘isolationism’ ended with US entry into the Second World War, following the Japanese attack at Pearl Harbor.
· 1941 marked the formation of the ‘Grand Alliance’ between the USA, USSR and UK.  
· The USA never returned to an isolationist policy after 1941. After 1945, its aim was to sustain global superpower status by placing the US at the heart of world affairs and global institutions.
· All the actions of the USA in the rest of the century could be argued to stem from entry into the Second World War in 1941.

However:
· The USA had been similarly involved in the First World War but had resumed an isolationist policy afterwards; the same thing could have happened after the end of the Second World War.
· Isolationism was already being rejected before 1941 e.g. Cash and Carry, Arsenal of Democracy, etc.
· The end of isolationism was forced on the USA by Japan and then the Nazi declaration of war against the USA.  Later events were a deliberate policy choice.
· It could be argued that fear of the spread of Communism was more significant than entry into the Second World War. The breakup of the Grand Alliance (1945) and the onset of the Cold War had a longer-term impact on US foreign policy.
· Candidates might choose to discuss one or more other significant turning points in the period 1918-2003 and compare them to 1941.  These include: containment; détente; Reagan’s foreign policy; the end of the Cold War; the Bush Doctrine.   

A Weak answer would be fragmentary.  A Bare Pass would be limited in the aspects dealt with, perhaps discussing what happened in 1941 with no other context, or making only brief reference to other events.  Satisfactory answers are likely to concentrate on one aspect, but should either make some reference to at least one event beyond or before 1941 or show some analysis or evaluation of 1941.  Good answers will have a more even-handed approach and discuss factors across the whole period, developing ideas and showing analysis, evaluation or evidence-based judgement; they may consider what constitutes ‘significance’.  Very good answers will have a ‘big picture’ approach and will include evidence-based judgement of the extent to which 1941 was a turning point.  

Total 20 marks





Question 2: Britain from 1945 to 1990

	Explain the economic problems faced by Britain between 1945 and 1979. 
 [8 marks]





Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks. Students are not required to have a detailed knowledge of each political administration in this period of UK History so expect even the best answers to focus on the overarching factors.

· The effects and costs of the Second World War and the need to recover from the war.
· The effects of the election of the first Labour government including nationalisation and the creation of the welfare state.
· The long-term impact of Labour 1945-51 policies (nationalization/Keynesian model/ cost of welfare state) through the development of the political consensus. 
· Growth of consumerism, increase in wages and spending power, and the consequent increase in the demand for imported consumer goods.
· Devaluations of the pound.
· By 1970s decline in manufacturing industry, relative economic decline, lower productivity, restrictive working practices, trade-union power, failure to invest, weak management, ‘the sick man of Europe’, inflation, unfavourable trade balance, three-day week, miners’ strike, IMF bailout, winter of discontent.
· The 1970s oil crisis.


Mark holistically on the overall quality of the answer. The question covers a long period, when the economic condition of Britain changed.  This will be reflected in the best answers.  The main focus should be on an explanation of the economic situation rather than a narrative of what happened.  
A Weak answer will be restricted in scope, looking at limited aspects and may lack accuracy and understanding.  A Bare Pass will show some limited understanding and may cover more than one point, but explanation will be limited.  A Satisfactory answer will start to show coverage of a longer period using relevant examples and starting to explain.  A Good answer will include explanation and evaluation of several examples, going beyond narrative.  A Very Good answer will cover the whole period with well-chosen examples to support an explanation of the economic situation.  

Relevant examples other than the ones above should be given credit.  












Continued








	To what extent were these problems remedied during the Thatcher years?  
[12 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below.

This part of the question arises from the first part, and while no credit should be given for repetition of material used in the first part, some reference to the problems which needed to be remedied, could be relevant.  Mrs Thatcher is still a divisive figure and there are likely to be both positive and negative answers.  Either can achieve high levels; what is important is the use of accurate and relevant evidence to support the judgement reached. 
The dispute which might be addressed:  Did Thatcherism destroy the manufacturing base, squander North Sea oil and make Britain an unbalanced society?  Or did it create a more productive and profitable economy and make long overdue reforms which led to an economic boom and a modernised economy?  Is there a way to reconcile these opposing views?

Evidence which might be used:
· Privatisation, deregulation, spending cuts, the role of the market, control of inflation
· Monetarism
· Belief in individualism
· Liberalisation of the financial sector, deregulation, the ‘big bang’.
· Encouragement of entrepreneurialism
· Right to buy and the rise of the property market
· Curbing the power of the unions: the number of union members declined and the number of days lost to strikes declined
· Death of the mining industry
· Increase in the number of children and pensioners living in poverty
· High unemployment
· Recession in early 80s.

Long term effects:
· So far, no renationalisation; utilities remain privatised; unions have not regained powers; many of Thatcher’s ideas now part of mainstream thinking.

This part of the question requires an assessment of the extent to which Thatcherism addressed and remedied the economic problems she inherited.  To reach the top level candidates must reach an evidence-based judgement. The syllabus does not go beyond 1990, but consideration of long term effects can be credited, while not being necessary to achieve full marks.  

A Weak answer might be fragmentary and limited in the aspects dealt with.  Bare Pass will show basic understanding, but be limited in use of evidence. Satisfactory answers are likely to concentrate on one side of the argument but will start to analyse and/or provide a judgement.  Good answers will have a more even-handed approach with use of clear examples and some evaluation of the effectiveness of Thatcherism in dealing with the economic problems inherited.  Very Good answers will have a ‘big picture’ approach, look at both sides of the argument and reach an evidence-based judgement. 

Total 20 marks









Geography AMQ and Document: Hubs and flows in globalisation

It is essential that we all understand that this is a new style of question and is not a traditional French croquis. The important point is that this question should be as comparable as possible, in terms of its demand, to the History DBQ, which is the alternative choice for candidates who decide to answer Sujet B. 

We must also ensure ‘positive marking’ and ‘benefit of the doubt’. This is especially the case with this new style of question. For example, I propose that a candidate who uses more than the allocated 15 lines for their ‘commentary’ in part (a) should not be penalised. 

In the ‘short commentary’ candidates should not be penalised if they do not include a ‘thesis’ or ‘problématique’. This is not essential for this new Geography AMQ. However, if a candidate does include a ‘thesis’ (which is the way they may have been taught), this should also not be penalised.

	(a) On the map outline provided, draw an annotated map to show the hubs and flows in globalisation. Produce a key for your map on the sheet provided and a short commentary of no more than 15 lines, to justify the choices you have made in terms of analysis and representation [10 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

The map that the candidate draws will depend on what they have been taught in class. A range of responses can be expected. However, there should be a focus on the hubs and flows of globalisation, naming real places on the world map and showing some ‘place specific’ knowledge of those real places e.g. the location and the nature of the main and subsidiary hubs and the correct placing of the flows – probably shown by lines or arrows. Hubs can be world regions but major cities may also be located and named. Regions should be roughly delineated, e.g. the area of the European Hub. Cities may be differentiated into Alpha, Alpha+ and Alpha ++. There will probably be some differentiation between major and minor flows and maybe some indication of the nature of the products being moved. Most candidates will probably shade the map according to the unequal integration of countries into globalisation. The use of colour is expected but black and white shading is acceptable and should be marked according to its effectiveness. The key will probably be structured around hubs, flows and the integration of countries into globalisation but other ways of structuring the key should be expected and marked according to their merit. Some reference to the changing nature of globalisation might be seen in the best answers.

This question requires three things, the map, the key and the justification. The map and the key should be closely related and show the main hubs and flows and the way in which the countries, regions and cities are organised. The map and the key should communicate information clearly but this is not a test of drawing skills and the map does not have to be aesthetically pleasing to gain high marks. The commentary should justify the decisions that were made when choosing what to show in the map and the key. It may also explain the limitations of the map and the key, although this is not essential. The statements in the generic mark scheme are the key to deciding on a level;
· For a bare pass, only some locations need to be precisely identified. Symbols and colours are used but some may be used inappropriately. The key has a basic structure and the commentary is basic.
· For a satisfactory response, many of the locations are precisely identified. Sufficient symbols and colours are used and the key is adequately structured. Commentary is simple but clear.
· For a good response, most of the locations are precisely identified and a good range of colours and symbols are used. The key is well structured and the commentary shows good evaluation and judgement.
· A very good response has precisely identified locations, wide ranging symbols and colours used appropriately and a very well-structured key. The commentary shows high level evaluation and judgement.
The Geography AMQ continues on the next page
	(b) Using your sketch map, Document A, and your own knowledge, evaluate the current dynamics of globalisation. [10 marks]




Indicative content:  Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

It is expected that this part of the question will ‘broaden out’ the response, including points from the document and the candidates’ own knowledge, although reference to the map could well be used to exemplify or justify the points made. Possible points could include;

· The changing role of national governments e.g. the increased tariffs imposed by the USA.
· The evolving role of national governments in attracting inward investment and the strategies that are used for this.
· The ever-increasing role of Chinese investment in Africa and the reasons for this.
· The Chinese ‘belt and road’ initiative and its possible implications.
· The need for TNCs to maximise their profits, possibly by moving production to countries with even cheaper labour costs e.g. from South Korea to Vietnam and maybe on to Africa.
· Changes in transport technology, e.g. the possible use of drones to deliver goods direct to the consumer.
· Credit real world examples of either TNCs, governments, SEZs, etc.
· The expansion of the network of global flows. *
· The increasing integration of developing countries into globalisation *
· The importance of new emerging markets. *
· The increasing movement of people, for a variety of reasons. *
· The development of South-South flows which may not appear on the map they have drawn. *
· The importance of digital technologies which allow the easier ordering/purchasing of goods, easier methods of payment/money transfers, the spread of ideas, and ‘virtual people flow’. *

* Points which may be drawn from the document. For credit to be awarded, these points need to be developed and not simply copied

This question requires skilful use of the document and the map. The document only mentions some of the changing dynamics and the map is not an ideal way of showing change over time, so some use of the candidate’s own knowledge will be required for a high mark to be awarded. There is an expectation that the changing dynamics will be evaluated and judged, not just listed and described. The use of examples and case-studies can be expected. There is no requirement to discuss the usefulness of the document or the map.

· For satisfactory answers, appropriate specific examples should be given, from the candidate’s own knowledge, as well as examples from the document/sketch map.  Such answers will include some evaluation although it may be limited.
· Good answers should integrate the candidates own knowledge with information given in the document/sketch map and include appropriate and relevant exemplar material. The response should be well-structured and there should be some evidence-based evaluation. 
· Very good answers should skilfully incorporate information from the sketch map, the document and the candidate’s own knowledge, using place-specific examples which show extensive and detailed knowledge and thorough understanding of the issues. The answer should be very effectively structured to give a ‘big picture’ approach and provide analytical evidence-based judgements.


For a response which mentions neither the sketch map nor Document A: max 5 marks (bare pass).

For a response which ignores Document A but does refer to the sketch map OR ignores the sketch map but does mention Document A: max 8 marks (good response).

Total 20 marks
Sujet B

Geography Essay

Question 1:  Urban trends and issues of urbanisation

	Explain the main reasons for the growth of megacities.  [8 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

Candidates may structure their answer in a variety of ways. Urbanisation is a complex issue and there are a multitude of factors that have led to the growth of megacities. Some of the main reasons for the growth of megacities are;

1. The general factors that lead to urbanisation;
· Natural population growth – urban areas tend to have a relatively low age-profile and therefore more people in the child-bearing age group.
· Rural-urban migration push factors – all of the problems of the countryside which tend to push people towards the cities (these are mainly relevant in less developed countries). The most important of these factors are poor living conditions, lack of rural facilities, lack of opportunities in the rural areas, mechanisation of agriculture, and war/civil strife/famine.
· Rural-urban migration pull factors – all of the advantages of city life which pull people in. These tend to be the mirror image of the push factors and can be summarised as better economic opportunities and better social provision. There is also the issue of parents moving to ensure their children have a better chance in life.

2. Factors specific to the growth of megacities. Inclusion of these will tend to raise the quality of the response.
· The advantages of demographic and economic agglomeration – the larger the population cluster the greater the workforce and the larger the market.
· Economic development linked to globalisation – the emergence of major manufacturing and service centres at the national and even at the continental scale. These then lead to the development of key transport nodes in the global trading system.
· Cultural and social factors – The cultural/educational facilities of large cities are an important element of their overall attraction to FDI and TNCs.
· Political importance – many megacities are capital cities, benefitting from especially high levels of investment in infrastructure.
· The communications revolution – megacities form an interlocking global network with the cities at the nodes of the network. The development of modern communications networks has allowed organisations based in one city to have links with other cities across the world.
· Linked to this is the ability to easily exchange information and ideas within a megacity.
· The availability of major financial institutions within megacities. These institutions have a global reach. Megacities are also well supplied with employees with key skills such as accountants, managers, marketing and computer experts.

Expect development of points with reference to real world examples.


Mark holistically on the overall quality of the answer.  Satisfactory answers should cover at least one reason in detail or two in outline.  Good answers should cover two reasons in detail and more in outline.  Very good answers should thoroughly develop the reasons covered in the answer, showing detailed knowledge of the topic and very good understanding, perhaps linking two or more reasons together. 


Continued
	To what extent do you agree that megacities display similar features, regardless of location? You should refer to at least two case studies of megacities in your answer.  
                                                                                                                                            [12 marks]



Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

Features could be structural, economic, social, political and cultural. Within these categories, each megacity will have different individual features (the things that make a city instantly recognisable) but each of these categories will include aspects which are common to all megacities. For example, Paris has the Eiffel Tower and London has the Shard, but all megacities have tall buildings. Some aspects of megacities could include;
· Megacities, by definition, have large populations and these populations have often been growing rapidly – although population growth does vary between megacities in countries at different levels of development.
· Megacities can be important nodes in the global economic system but their integration into the global economy and influence varies considerably due to location and level of development. 
· The large populations of megacities stimulate economic development by providing a labour force and a market – although the nature of the skills available, the cost of labour and the affluence of the market can vary considerably.
· All megacities have different urban zones such as CBD, industrial areas, residential areas, open space and so on. However, the way these zones are structured may vary according to the history of the city’s development.
· Megacities all require a complex urban transport network but the nature of this network may vary from city to city. Megacities also need transport links to other parts of the world – almost all have large airports and the ones situated on the coast have important port facilities. There is variety here, however, e.g. Singapore’s port is much more important to its national economy than that of London.
· All megacities have social and environmental problems such as crime, overcrowding, homelessness, pollution, and waste disposal. However, the nature of the problem (and the management solutions) vary according to location and level of development.
· All megacities have an important influence on the areas around them, often acting as core areas within a country. All megacities have an important economic function within their country but those that are not capital cities have less of a political influence.
· Environmental impacts of megacities can be national, continental or global. The way in which these impacts are perceived and mitigated varies from city to city.
· Each megacity may have a distinctive culture (benefitting tourism) but all megacities are increasingly influenced by a common ‘global culture’.
· Expect reference to the grading of megacities – Alpha, Alpha+, Alpha++, etc.

This part of the question requires an evidence-based evaluation. 
· ‘Bare pass’ answers may be one sided, only addressing a few similarities of megacities, with limited use of examples.  
· Satisfactory answers may be unbalanced, addressing similarities and differences in some detail, but one side of the argument will be significantly weaker than the other. A case study will be used to back up the arguments. There should be some evaluation.
· Good answers should be well balanced, covering a range of similarities and differences. There will be good use of examples and case studies (more than one megacity will be covered) and a clear understanding of the relevant issues, with good development of points made. There should be a clear attempt to evaluate and judgements will be linked to evidence.
· Very good answers should look at the wider picture and have a clear evaluative focus rather than narrative description. Judgements should be clearly linked to the evidence. The response should include a range of features, with similarities and differences included for each one. The situation in at least two megacities will be discussed, perhaps with a comparative element. Points made are well developed.

For a response that includes no case study – max 6 marks (bare pass)
For a response that only uses one case study – max 8 marks (satisfactory)               
Total: 20 marks




Question 2:  Demographic issues

	Explain the factors that determine population structure.  [8 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

A good starting point would be some definition of population structure – something like ‘the number of males and females within different age groups in the population’. Expect some reference to ‘population pyramid’ diagrams and to the Demographic Transition Model. The division of the population into young dependents, working population and old dependents may also be mentioned but the consequences of population structure are beyond the scope of the question and should not be credited. There are a range of factors that affect population structure and candidates will attempt to explain some of them. For high marks, however, the link between the factor and the structure of the population should be the main focus of the response.

The main factors include;
· Birth rates/fertility have an impact on population structure. Reasons for high birth rates should be credited but the better answers will explain how high birth rates lead to a large number of children and a youthful population. Falling birth rates will lead to a reduction in the number of young people and an increasing ageing of the population. Falling birth rates can also lead to a large working population, twenty or so years after the birth rate begins to fall. This can lead to a high proportion of workers – the ‘demographic dividend’ recently experienced in China.
· Death rates/mortality are another important factor. Again, reasons for high death rates can be credited, as can reasons for falling death rates but the better answers will link these to the population structure. High death rates, including high infant and child mortality will lead to a population structure with a high proportion of young people with steeply sloping sides to the population pyramid as people can die at any age – low life expectancy – few old people.
· Links to economic and social development could be made, explaining how birth rates and death rates change as a country develops over time due to changing medical provision, water supply, sanitation, food supply and social attitudes.
· Pro-natal and anti-natal government policies could be mentioned – most obviously the Chinese one-child policy. The impact of these policies on the population structure should then be mentioned.
· Migration can have an impact on population structure. Reasons for migration can be credited but the best answers will discuss the impact of migration on the population structure. Good examples are the small states in the Middle East where huge numbers of male construction workers have led to a high proportion of working age men. The impacts of out-migration could also be mentioned with a decline in the working age groups as young people move out.
· The best answers may recognise that the population structure itself is a factor. Change over time is important as earlier generations work their way ‘up’ the diagram. The ‘demographic dividend’ mentioned above is one example of this, but the ‘baby boomer’ generation in the UK is also relevant and is now leading to an ageing population in that country. Even with a falling birth rate, large numbers of people in the child-bearing age-group will mean that the overall population will continue to grow.

Mark holistically on the overall quality of the answer.  Satisfactory answers should cover at least one factor in detail or two in outline.  Good answers should cover two factors in detail or more in outline.  Very good answers should thoroughly develop the factors covered in the answer, showing detailed knowledge of the topic and very good understanding, perhaps linking two or more factors together.







Continued
	Evaluate the impact of youthful populations on development.  [12 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below to achieve full marks.

Candidates should show a good understanding of what is meant by a youthful population and what is meant by development. Causes of a youthful population should not be credited because the focus of the question is on the impact of a youthful population. Credit the general impacts but the impacts on development should be given most credit. Expect some evaluation of the different impacts. Relevant impacts could include;
· Food supply will need to increase to feed the extra non-productive population. This could stimulate increased agricultural production or it could mean extra cash spent on food imports, leaving less money for other aspects of development.
· There will be pressure on the health service. More midwives will be needed and children will need clinics for check-ups and vaccinations. This could boost the skills base of the population, stimulating development, or it could simply take money away from other development needs.
· There may be a shortage of kindergartens and schools and teachers to work in them. Again, this could boost the skills base of the population, stimulating development or it could simply take money away from other development needs.
· There is pressure on the government to provide these facilities and taxation may need to increase. This may stifle entrepreneurial development. Alternatively, the government may borrow money, running a budget deficit, which may adversely impact economic development in years to come.
· When the children grow up, they will need jobs and this could lead to unemployment, putting a drain on welfare and government spending. 
· However, all these extra workers will provide a large pool of relatively cheap labour, which could attract TNCs and stimulate industrial production and economic growth. This is known as the demographic dividend and can boost economic development.

Determine the overall quality of the answer using the generic criteria, bearing in mind;
· the conceptual understanding shown.
· the inclusion of detailed knowledge of the impacts of a youthful population on countries that the candidate has studied (place specific detail)
· an understanding of the importance of a range of impacts, acting together
· the structure and organisation of the response, which includes skills of discussion and evaluation, rather than just a descriptive or narrative approach. 

Bare pass answers will consider the impacts but may not link them to development and will include very little evaluation. Satisfactory answers should include some attempt to evaluate by looking at more than one impact. Good answers will include the effective use of detailed knowledge and a clear evaluation which is evidence-based. Very good answers will take a ‘big picture’ approach with extensive use of detailed and well-directed knowledge to produce an effectively structured response with a clear evaluative focus rather than narrative description. 

Evaluation should be linked to the evidence. The response should include both positive and negative impacts, applied to one or more countries. 

Total: 20 marks









History Documents: China and the world from 1949 to the end of the twentieth century

Study Documents A and B

	(a) How useful are Documents A and B for a historian studying the changing relations between China and the USSR between 1949 and 1976?                                                                                                                   [8 marks]




Indicative content: Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below.

The points below list the usefulness and limitations of each document.  These points may be included in students’ answers.  However, it is important to remember that students are encouraged to take a thematic approach to this type of question and not just deal with each document separately.  The key to a good answer is highlighting the limitations and usefulness of the documents taken together.

Document A is from 1953, and shows a Soviet expert and two Chinese workers in front of a large industrial site, which appears to be booming. The Soviet expert seems to be explaining something to the workers.  They are holding a document, which may show plans for industrial expansion.

Usefulness:  Students should identify that this document is Chinese propaganda showing a positive relationship with the USSR.  The first Five Year Plan had begun in 1952, modelled on the Soviet Five-Year Plans.  The Soviet Union had offered help to China, a fellow communist country and this poster reflects that. A historian can see the image that the Chinese government wants to portray – the ‘senior’ partner providing a model for the new communist state in China to follow.

Limitations:  The propaganda nature of this poster is also a limitation.  It does not show the reality of the relationship between China and the Soviet Union, which can be seen as one of exploitation rather than support.  

Document B is from 1974, when relations with the Soviet Union had broken down.  It is a speech by Den Xiaoping at the UN General Assembly.

Usefulness:  As with Document A, this speech can be seen as propaganda.  Deng Xiaoping is telling the world how China wants to be seen, and how it sees the rest of the world.  Students should be able to identify that China is attacking the two superpowers, the USA and the USSR for allegedly exploiting and oppressing developing countries.  The USSR is described as being ‘especially vicious’.  Deng identifies China as a socialist country, a developing country and part of the Third World and gives a positive image of the country supporting ‘oppressed peoples and oppressed nations’. 

Limitations: As with Document A, the propaganda nature of this speech is also a limitation. A historian would have to take this into account and ‘read between the lines’ to work out what the purpose of the speech is.  Deng denies that China is, or ever will be a superpower, but this is contradicted by its acquisition of nuclear weapons in the 1960s and its potential for growth.

Taking the two documents together a historian would see that there has been a dramatic change in relations between China and the Soviet Union between 1953 and 1974, leading to an open attack on the Soviet Union in the UN General Assembly.  The documents only refer to two distinct points in time, however, and a historian would need to explore further to see what had happened to change relations and how the change had taken place to give context to the documents.  Are the documents sufficient?  Do they focus enough on the whole time period?    



The mark scheme for this part of the question continues on the next page



This question requires an appreciation of the usefulness AND limitations of both Document A and Document B for a historian studying changing relations between China and the USSR between 1949 and 1976.  The effectiveness of the structure of the response should be taken into account when allocating marks.  A direct comparison, rather than treating the documents separately, should lead to the awarding of higher levels. 
· A Weak answer would take one document at face value only 
· A Bare Pass would show a basic approach to the use of both documents and limited interpretation and/or use of them or a more detailed evaluation of the usefulness of one of the documents.
· A Satisfactory answer would use both documents, although the use and/or interpretation of one may be stronger than the other
· A Good answer would show a more skilled interpretation AND use of both documents
· A Very Good answer would show a good balance between the two documents and show skilled interpretation of what they show AND their limitations

For a response which only considers one document max 4 marks (Bare Pass)
































Continued










	(b) Using Documents A and B and your own knowledge, evaluate the role of China in international relations during the Cold War (1949-1991).
[12 marks]




The question requires candidates to use BOTH the documents AND their own knowledge to show knowledge and understanding of the way in which China’s role in international relations developed during the Cold War.  

Indicative content:
Please note that the following points are ‘indicative’ and are neither exclusive nor inclusive.  Other relevant points should be credited and the candidate is not expected to include everything listed below.

Points from the documents could include:
· Both documents could be regarded as propaganda for the Chinese state, but the context has changed significantly between 1953 and 1974.  
· In 1953 only China and the Soviet Union are mentioned, but by 1974, Deng Xiaoping talks about a context including the superpowers of the USA and USSR and also the Third World.  Rather than being seen as a support for China, by 1974 the USSR is being criticised as an ‘exploiter and oppressor’. 
· In 1974 China is portrayed as having an ‘internationalist duty’ to ‘support all oppressed peoples and oppressed nations’ and ‘oppose colonialism, imperialism and world domination’.  
· In 1974 the Soviet Union is linked with the USA as seeking ‘world domination’, while China is ‘not a superpower, nor will she ever seek to be one’.  

Points from the candidate’s own knowledge could include: 
The dates in the question are 1949 (before Document A – 1953) and 1991 (after Document B – 1974) so better answers will include knowledge from the whole period.
· Impact of China turning communist in 1949 – led to the globalisation of the US policy of containment.
· Impact of Mao’s policy of continuous revolution e.g. China played a major role in the Korean War.
· Clash of personalities between Mao and Stalin in period up to Stalin’s death in 1953
· Mao’s concerns over Soviet revisionism and détente after Stalin’s death, which he felt might be deliberately leaving China isolated internationally.  
· Rivalry over the leadership of international communism.  
· Debate about when China turned into a superpower, in contrast to assertion in Document B that China was not and never would be one.
· There were always ideological differences between China and the Soviet Union and also geographical reasons such as a long, shared border, which were likely to lead to problems in Sino-Soviet relations, and how China presented itself to the world. 
· Impact of the Sino-Soviet Split which played a key role in the forging of triangular diplomacy and Détente.  
· The shift in the 60s and 70s from being more inward looking and pro-Soviet, to more outward looking and a rapprochement with the USA.
· Relations with the USA: from China’s propaganda attack on US ‘imperialism’ to ‘ping-pong’ diplomacy in the 1970s leading to diplomatic contact and trade. China followed the Reagan Doctrine in funding the Mujahedeen in Afghanistan.  
· Concentration on internal stability rather than international role under Deng up to Tiananmen Square massacre in 1989.
· China opening up to the world in the 1980s.  




The mark scheme for this part of the question continues on the next page


[bookmark: _GoBack]Weak responses will show some use of the documents although it will be restricted and/or faulty.  Bare Pass answers will have a basic approach to the documents, with limitations in their interpretation. Satisfactory answers will start to address the specific requirement to consider China’s role in the Cold War, although the answer may be unbalanced and limited in scope.  Good answers will show skilled interpretation and use of the documents and also a firm grasp of subject knowledge, and go beyond the dates of the documents. Very good answers will show clear evaluation of the documents and adopt a ‘big picture’ approach, possibly with reference to ‘the use of power’. They will be supported by detailed and relevant knowledge across the whole period.  

For a response without reference to at least one of the documents: max 6 marks (bare pass)

Total 20 marks


End of Mark Scheme
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